
1 Kg = 2,20462 pounds and 35,27396 ounces

3,785412 liters = 1 gallon

159 liters = 1 barril of oil

35,23856 liters = 1 bushel

1.000 liters = 1 cbm ("m³")

1 meter = 3,28084 feet and 39,37008 pol

1 hectare = 2,47105 acres

¢US$ / lb = 22,0462 US$ / ton

Consecana = 60% NY11

1 Kg of VHP = 1,0453 Kg of TRS

1 Kg of Cristal = 1,0495 Kg of TRS

1 liter of Anhydrous ethanol = 1,7651 Kg of TRS

1 liter of Hydrous ethanol = 1,6913 Kg of TRS

Productivity = 80 tons / ha

1 ton of sugarcane = 140 Kg sugar / 86 liters of ethanol / 0,26 ton of bagasse

Energy = 0,29 MWh / ton bagasse

Cogeneration = 1MWh = 0,184 tons of CO2

1 ton of sugarcane = 140 kg of TRS = 133,9 kg of VHP sugar = 133,4 Kg of Crystal sugar = 79,3 liters of Anhydrous Ethanol = 

82,8 liters of Hydrous Ethanol


